
QTY.

Ref.: 9689

20 min1 person

Nº 3
Nº 4 Nº 11

ALLEN

M5 ISO 7380 screw cap

M5x1 nylon washer

Special screw M5x15 + interior thread M5x10

M5X11 Ø11 ISO7380 Allen screw

Left suport (L)

Right suport (R)

Sport windshield

4

4

4

8

1

1

1

6

5

7

4

3

2

1

Innnteeermmmediate

DDDiffifificcuuullt

Ø4,5 x Ø11 x 2mm Rubber washer 48

KAWASAKI Z900  ‘17

Pg. 1/2

ID.     PART

SPORT WINDSHIELD FOR

 Easy

DESCRIPTION

https://www.motorcycleid.com/puig/


1

3

2

4

Pg. 2/2

DISASSEMBLY
ASSEMBLY

ASSEMBLYASSEMBLY

Original partsA

A

4

1

6

6
4

5

6

6

4

4

5

5

4
5

8

3

8

4

4

2

8

8

4

7

7

7

A
A

7

A

If you’re looking for quality motorcycle windshields & fairings, visit our website.

https://www.motorcycleid.com/windshields-fairings.html



